log (t*)
I

|IECSRGBu5-Dreieckshelligkeitt*

Ync=Yw nc=100,

*1ECcsroBUS=B0 (Y/Y,) Y2 4(Y,=18, ¥,/100<Y<=Y, )
t(3.6)=26,t* ,(18)=50 t*/(90)=98

t*9=97,77,y=2,4, 14=1/2,4=0,41
t*16=50,0Q 550,00 D,;=-0,00
t3,625,51,t4,=50,00 Y=18

log[t*/t* J=0, m,=0,41

bereich
1
1Y=18
1Yy =90

Yn=3.6

IECSRGBuU5

Normfarbwertdifferenz

Yoc=Yw - nc=100,
t*1EcsraBus=50 (YY) M2 4(Y,=18, Y, /100<Y<=Y,0)
log(dY) = (1/2,4) log[2,4Y,/50)] + [1-(1/2,4)] logY)

s

dY¥o=12,27 y=2,4, 17
dY;g=4,8Q ur: Anwendungs-
. bereich
Yu=18

V=90

log AY/Y)
S=(AY/Y)

IECSRGBu5
Normfarbwertemfindlichkeit
Yac=Yw  nc=100,
t*1EcsraBus=50 (YY) M2 4(Y,=18, Y, /100<Y<=Y,0)
log(dY/Y)= log[2,4(Y,/50)] - (1/2,4) log{/Y,)

= (1/2,4) log[2,4Y,/50)] - (1/2,4) log¥)
' 4 .
Iog(leY): (0] 5:, ~ 41 &y x

= Anwendungs-
* =50, dY,=4,8Q dY,/Y,~C 7bm |

~ JJerelch

(dY/Yp=0,1363y=2,4, 1=1/2, 4= 0,41
(dY/Y)g=0,2666 $=50,0Q D=-0,00
(dY/Y},6=0,5202 =18, dY=4,80
'v,=18
1 Yw=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

IECSRGBuU5
Normfarbwertkontrast
Yac=Yw - nc=100,
¥ 1EcsraBus=50 (YY) M2 4(Y,=18, Y, /100<Y<=Y,0)
log(Y/dY)= — log[2,4(/,/50)] + (1/2,4) log{/Y,)

= - (1/2,4) log[2,4Y/50)] + (1/2,4) logy)

t*,=50, dY,=4,8Q Y,/dY.~5

1

(Y/dYyo=7,33,y=2,4, 1§=1/2,4=9,41

(Y/dY)g=3,74 S=50,00 D;=—0,90  Anwendungs

(Y/dY}6=1,92 Y,=18, dY=4,80 1 bereich
1Y,=18

V=90

Yn=3.6

Anwendungs-]

log (t*/t* )
e

IECSRGBUS relative Dreieckshelligkeitt*/t*,
Yoc=Yw - nc=100,

t*|EcsroBus=50 (Y/Y,) V2 4(Y,=18, Y, /100Y<=Y, o)
t(3,6)=26 t* ,(18)=50,*,/(90)=98

togt =L, 95 2.4 Ye1124=041
39t =100 §,=50,00 D,=-0,
3ty :o 51 t,=50,00 =18

log[t*/t* ]=0, m,=0,41

1 bereich
1y,=18
Yy =90

Yn=3.6

log(A Y/AY i)
AYIAY,

IECSRGBUS5 relative
Normfarbwertdifferenz
Yoc=Yw - nc=100,

t*1EcsreBus=50 (Y/Yy) Y2 4(Y,=18, Y,/ 100<Y<=Y, )
log(dY/dY,) = [1~(1/2,4)] log¥/Y,,)

QYoo dy=2.85.y=24, 14=1/24=0.41
dY;¢dY,=1,00 $=50, )
dY; gd¥,=0,39 Y,=18, mg 24,80

>

=50, dY,=4,80 dY,/Y,=0,2666 ¢

log(@YY(d¥),}=0, m,=0.58 o A

>y 1 Anwendungs-
- 1 bereich

1y,=18
Y=90

T Va3e

log [AYY) I (AYIY),]
SSu=AYN)AYY),

IECSRGBUS relative
Normfarbwertempfindlichkeit
Yoc=Yw - nc=100,
t*1EcsroBus=50 (Y/Yy) Y2 4(Y,=18, Y, /100<Y<=Y, o)
10g[(dY/M/(AY/Y),] =~ (1/2,4) log¥/Y,,)

(dY/Yyo/(dY/Y)= 0 51,y=2,4, 1§=1/2,4=0,41
(dY/Y)g/(dY/Y)=1,00 §=50,0Q D,=—0,00
@AYy g(AYIY)= ,951 V=18 dY=4,80,0 = |
bereich
log[(dY/YY(dY/Y),]=0, m~ -N.ai

*,=50, dY,=4,80 dY,/Y,=0,2666 }
1y =18

Y=90

YN=3.6

log [(Y/AY) I (YIAY),] IECSRGBUS5 relativer

Normfarbwertkontrast
CrlCru=(YIB(YIAY)y . =y, =100,

t*1EcsreBus=50 (Y/Yy) Y2 4(Y,=18, Y, /100<Y<=Y, )
logI(Y/dY)/(Y/dY),] = (1/2,4) loglY/Y,)

(Y/dYo/(Y/dY)=1,95,y=2,4, 1§=1/2,4=0,41
(Y/dY)g/(Y/dY)=1,00 §=50,00 D,=—0,00
(Y/dY} ¢/(Y/dY)=0,51 Y,=18, dY=4,80
log[(Y/dYY(Y/dY),]=0, m ~5,47
t*,=50, dY,=4.25 Y.

bereich
'y,=18

Yy =90

YN=3.6




